Unit 1 Day 5 HW: Arithmetic Sequences 5

Werite the recursive formula that goes with the following sequences:

ny 12,345 OO= Q(\-\'\’\ 2) 2,4,8,16,32. 0" A0q)-\

3) 8,15, o Q(\:"‘\a“aﬂ'\ 4) 5,2,-1,-4. Q)" Qﬂ-\_?)

Find the first four terms of the given recursively defined sequence.

PR
5) a, =2(ap_1—2)anda, =3 alO]-'L‘j-\a 6) an=%anda1=—8 -q) al \l Ia

7) a, =2a,.1+1anda, =1 3,‘-4) \5,6\ 8)a,=a,_1—5anda; =1
"L\j 'é\l "\"\l’\q
9)a, =3a,-,anda, =1 6'q' a“‘-‘ 6\ 10) a, = —2(ap_1 +3) anda, = 1

—61 \Or@(b."-\co

Write an explicit and recursive formula for the following sequences.

11) 19,13,7,1.. 12) 9,17,25, 33..

explicit: AQ = -0~ ﬂ Explicit: O, = q+ %«\"h
Recursive: OD:: Qﬂ-\_ ~-(o Recursive: = - ¥

13) -3,-1,1,3.. 14) 110, 88, 66, 44...

EXP“C”‘QQ:_'a-\-_a(Qﬂ3 Explicit: O(\_': Nno- aa(n' D
Recursive: %ﬁg:\ig_ Recursive: — -

Find the finite sum S, = g(al + ay,) of the arithmetic sequence that satisfies the given conditions.,

Show all workl

15) a;,=1,d=2,n=10 \w 16) a;,=3,d=2,n=12 \@%
7) m=td=2n=20 LY 18) a, =100d=-sn=8 (OO0
19) a, =55d=12,n=10 \mo 20) a;, =8,d=3,n=15 L—\%



